Increasingly

Functions Piivicu s

Given that... f(x) = 2x + 1, g(x) = 10 — 3x and h(x) = x*> - 2x + 1...
a) b) c)

Find f(3) Find g(2x) Find h(5)
d) e) f)
Solve f(x) =15 Solve g(x) =19 Solve h(x) =0
g) h) i)
Solve f(x) = g(x) Find fg(1) Find gf(x)
j) k) 1)

Find fg(3x)  Find fg(2x + 1) Solve fg(x) = h(x)

Increasingly

Functions plticuls

Given that... f(x) = 2x + 1, g(x) = 10 — 3x and h(x) = x* - 2x + 1...
a) b) c)

Find f(3) Find g(2x) Find h(5)
d) e) f)
Solve f(x) =15 Solve g(x) =19 Solve h(x) =0
g) h) i)
Solve f(x) = g(x) Find fg(1) Find gf(x)
i) k) 1)

Find fg(3x) Find fg(2x + 1) Solve fg(x) = h(x)



